Bangabasi College
Test Examinatiory -2016
Sanskrit Honowry (3™ year)
(V & VI paper both)

Time-4hrs Full Marks-100

Course = I (50 marks)

1. Name of the seer of 34T . Estimate the poetic features of the hymn in describing the

strong addiction to dice. What lesson does he learn at the last? 1+6+3=10
or
"FHEH AT &1 A9T FAUH:" — In which hymn this question is raised? Discuss the philosophical
implication of the hymn. 1+9=10
2. Explain (any one) of the following extracts: 6

i) HITTAS: gy v AreRegaT e st R
if) 3TETE Tt AR TR |

3. Which Veda does the "JEERUIHIfAYE" belong to?Justify the title"FFERUTRIIIE

".Briefly narrate the contents of this Upanisada 1+3+6=10,
or

Who is the deity of 3]fA¥@? What is its other name? Describe the glorious earth, the

mother of all beings,as depicted in the hymn 1+1+5+3=10.

4. What is the main difference betieen Hf¥TT 915 and U€ UTS ? Discuss with examples two

cases of mﬁgmm 5+5=10

or

Write short notes on any two:

Use of 31 in padapitha, Indipendent TR , Use of Tt 5%2=10

5. Comment grammatically on (any two): Ix2=6

qdf:, g, fa, it
or

Write ritualistic notes on (any two); Ix2=6

6. Write an informative note on the principles of taxation as mentioned in the chapter VII of
the Manusamhitd. Who were suggested to be exempted for paying tax? State the reason for

showing such a favour to them. 4+4=8
or
Write after kautilya an informative note on the utility of * 3fegg=rg 8

or



What is meant by the term *Vyfsana’? How does Manu classify them? What, according to
Manu is the root cause of all Vyasana's? Which Vyasana's are more harmful and why?

24+2+242=§
Course - II (50 marks)

Answer any one of the following question:

I. Write a comprehensive note on the law of debt (F[OM&T). Under which circumstances are

the members of the family liable to pay off the debt of the head of the family after his
death”? Name the debt about which the relatives do not have any liabilities. 4+3+3=10

or
What is TATE=T? Write a brief note on its varieties under which circumstance is a husband
empowered to take FAILA? 3H+7=10
2. Write short notes any two of the following: Ix2=6

wrg ferames, anfor, Feanadt, gyt
3. Answer any one of the following question:
Give an account of the Manusmrtj State the importance in the ancient Indian Society.

4+6=10.
ar

Write an informative note on the ancient Indian NTti text. Add a note on the evolution of

Indian ethical thought. 5+5=10

4, Write short notes any two of the following; Ix3=9

IR W, g et e, (Aot Foelhsig:

5. What is the main theme of the word Upanisada? Which Veda is related to
Brhadarapyakopanisad? How the ultimate liberation will come according to
Brhadaranyakopanisad? 2+2+6=10

or

What does Yajfiavalkya teach MaftrayT in the Brhadaranyakopanisad?

6. Explain anyone of the following: 5

i. FcE: § HGAT=NT T 6 Aleta geafe |
ii. ¥¥E T RASATATS F et fFT=rand I
iii, ATHATIGSCeqH HE Aleried [hoas|



Bangabasi-College

Test Examination -2016
Savskrit Honowry (3™ year)
(V II& VIII paper both)
Time-4hrs Full Marks-100
Course — 1 (50 marks)
1. Discuss the “Carvaka™ system of Indian Philosophy. 10

or
Write a note on the atomism (WATIETE) of Vaisesika system of Indian Philosophy. 10

2. Write Short notes any two of the following: Sx2=10
i) Four noble truths.
i) Concept of God in Yoga Philosophy.
iii)  Purusa in simkhya Philosophy.

iv)  Jivanmukti (ShE=Rfd)

3. Answer any five of the following question : 5x1=5

i) Who is the author of the HIATHE ?

ii) Name the two sects of Jainism.

iii)  Name one Nastika Philosophy.

iv)  Who is the author of Ny3yasitra?

V) Who is the triratna of Buddhism?

vi)  What is the other name of Syadvada?

vii)  Who is the author of the commentary “Bhamati”?
yuifAfesey adesweEa 3o/ &aF |
4. FYATRE: aRTT et e wfaafe g fRem s wawr Rsfea
weafa 7 ar A fere AMfdaaarrans Radam)
3+6=9

or

HOFUFI FeosRnE T s R w A e afam | 243+44=9



5. OO HAead AIGEvT CAEAgH: 4x2-8
i) gAY MEEgEd
i) gt
iy RfEsT
iv) EETUEr fraAE:
V) TE0 O HaF HIEWEOTH

6. Write a short discussion on Ablaut? What are the main features of Centum and Satam

group of language? 2+6=8
or
What is Phonetic law? Give a short discussion on Grimm's Law 3+5=8
or
Write short note any two of the following: 4x2 =8
i) Assimilation

ii) Metathesis
iii)  Haplology
iv) Accent

Course — II (30 marks)
AT H ool 2T |

1, "grgsa-ty O Bf: ¥ gRuifEar dea sfa s sEruraits saredan
I"wegar- 3f gEEg dftaageaRe HeeadH | UEgE: -3

qifotfergEm 3uaeT SeffarA) 3+3+4=10
2. EFCHAET weTvT fATew av A% wedfear Affaaaeraanor \erei

gfaaegzas | 10
3. FITAAT YAead HIETEvT SAredaH 5x2=10

i) Ffa FR-afed a1 g, Fagdt Fe |
iy  gAReTREgE |
iii) e agdet
iv)  EEASaUEr |
4. FNATEEY gedes fAugard Wod AN JURY TYF oawAaad | S
) TR



iiy  hemeRtar
i) ey
iv)  3FmErAt
5. HEFAAY IYTG AeACad FATITH
FaRw: gwgrh? IFEEET F a9 SEERPEFEETT N8 SERIOTHEdIT
TATEAT: 2+3+5=10

FEAEG, Alerdmd? Yode] aFg FY I9ART? Aiemeusel: HIETEIoH A= |

2+3+5=10

FT A EAN:? Fid ATEHE, §edTHIW:? HerHgAGEcd oY a4 Faey

SAEATITA | 2+3+5=10
6. Iifef@dy g weagar sarear Fofa: 5

e, Y, T



